HIGH COURT OF SINDH, KARACHI

FINANCIAL BID EVALUATION REPORT

a.w.

MINUTES OF MEETING

No. SHC/IT/TENDER-2025-2026/01

TENDER-I (FINANCIAL YEAR 2025-2026)

Dated: 07-10-2025

TENDER FOR:

PROCUREMENT OF I.T. RELATED PHYSICAL ASSETS INCLUDING HARDWARE, SOFTWARE & I.T. EQUIPMENT

NOTE:

Due care has been taken to ensure accuracy & correctness in compilation of report. However, Bid Evaluation Committee reserves the right of rectifying any error and/or omission etc. at any time.

Table of Contents

1. Uploading of Tender Notice & Tender Document:	3
2. Details of Bidder participated in Tender:	
3. Tender Opening:-	
4. Evaluation of Eligibility Criteria:-	
5. Technical Evaluation Summary:	
5. Financial Bid Evaluation :-	
7. Financial Comparison:-	7

1. Uploading of Tender Notice & Tender Document:-

Tender Notice and Tender Document for "**Procurement of I.T. related physical assets including Hardware, Software & I.T. Equipment**" were published / uploaded on Newspapers (on 12-09-2025 & 14-09-2025) & on the official website of Sindh High Court (on 13-09-2025).

2. Details of Bidder participated in Tender:-

Following bidders participated in the subject tender as reflected in Attendance Sheet. All bids were sealed & received on time.

S.No.	Name of Bidder	Participated in Lot(s)
1	Mansha Brothers	1 & 9
2	Texitech	1
3	Kontinental Establishment	2, 3, 4 & 9
4	SeeSam Solutions	4, 5, 7 & 8
5	Grapho Scan Supplies	2
6	Sind Computer	1,11 &12
7	Shirazi Trading Co.	2, 4, 6, 7 & 8
8	IT Republican	1, 2, 3, 9, 10, 11 & 12
9	Riz Technology	1 & 2
10	319 Solutions Private Limited	5, 6, 7 & 8
11	Syed Business Solutions	1 & 11
12	PMCL	1 & 10
13	MBI	11

3. Tender Opening:-

No objections were received on tender documents, eligibility criteria, specifications, terms & conditions and tender proceedings from any corner. Tender was opened in public on 2nd October, 2025 at 11:30 a.m., in the presence of Chairman, Members of Bid Evaluation Committee and representatives of bidders as reflected in Attendance Sheet.

4. Evaluation of Eligibility Criteria:-

All bids were evaluated on the basis of already defined eligibility criteria as mentioned below:

#	Eligibility Criteria	Mansha Brothers	Texitech	Kontinental Establishment	SeeSam Solutions	Grapho Scan Supplies	Sind Computer	Shirazi Trading Co.	IT Republican	Riz Technology	319 Solutions Private Limited	Syed Business Solutions	PMCL	MBI
1	Profile of company / firm along with relevant documents.	Y	Y	Y	Y	Y	Y	Y	Y	Y	Y	Y	Y	Y
2	Complete filled, signed & stamped Tender Document.	Y	Y	Y	Y	Y	Y	Y	Y	Y	Y	Y	Y	Y

Valid General Sales Tax (GST-FBR) Registration with Active Tax Payer Status on FBR website Valid Income Tax (FBR) Registration with Active Tax Payer Status on FBR Website FBR website Undertaking on judicial stamp paper that firm has never been blacklisted by any government semi government, autonomous and stated owned organization. Affidavit stating that company/firm has not been involved in any litigation or has discontinued any work at any institution. IN CASE OF:- DESKTOP COMPUTERS, LEDs, PRINTERS, UPS, SCANNERS, AND ALL IN ONE COMPUTER SYSTEM The bidder must be an authorized Partner/Reseller, OF THE
4 Registration with Active Tax Payer Status on FBR Website FBR website Undertaking on judicial stamp paper that firm has never been blacklisted by any government semi government, autonomous and stated owned organization. Affidavit stating that company/firm has not been involved in any litigation or has discontinued any work at any institution. AREGISTRATE AND ALL IN ONE COMPUTER SYSTEM Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y
paper that firm has never been blacklisted by any government semi government, autonomous and stated owned organization. Affidavit stating that company/firm has not been involved in any litigation or has discontinued any work at any institution. IN CASE OF:- DESKTOP COMPUTERS, LEDs, PRINTERS, UPS, SCANNERS, AND ALL IN ONE COMPUTER SYSTEM The bidder must be an authorized Partner/Reseller, OF THE
5(b) company/firm has not been involved in any litigation or has discontinued any work at any institution. IN CASE OF:- DESKTOP COMPUTERS, LEDs, PRINTERS, UPS, SCANNERS, AND ALL IN ONE COMPUTER SYSTEM • The bidder must be an authorized Partner/Reseller, OF THE
AND ALL IN ONE COMPUTER SYSTEM The bidder must be an authorized Partner/ Reseller, OF THE
• The bidder must be an authorized Partner/Reseller, OF THE
ORIGINAL MANUFACTURER and should provide the partner/reseller or ANY authorization letter.
• Branded Business Series Computers, LED's (Lot No.1) and all Branded Printers, all UPS, all Scanners, AIO (Computer System) should be quoted.
7 IN CASE OF COMPUTER SYSTEMS:
Branded Business Series Desktop are required. Please do not quote Entry/ Home/ Consumer Series. Y Y Y - Y - Y - Y - Y - Y - Y -
PRE-INSTALLED LICENSED WINDOWS IN DESKTOP & AIO COMPUTER SYSTEM: Y Y Y - Y Y - Y Y -
• Prices of Licensed Windows required in any Lot should be quoted separately from that of a
Computer System, as the payment of Licensed Windows will be made from other head of account i.e. (Software).

8	The bidder must provide an authorization letter from OEM.	-	-	Y	Y	Y	-	Y	Y	Y	Y	-	Y	-
	IN CASE OF SCANNERS (HE	AVY	Z DU	JTY	7)									
	• Average Financial turnover of at least Rs.10 million per annum during the last three years. (financial statements & bank statements are required)	-	-	-	Y	-	-	Y	-	-	Y	-	-	-
	IN CASE OF ALL COMPUTE	R S	YST	EM	S, S	CAN	INE:	RS	& Pl	RIN	ΓER	S:		
	• Quoted item should be preferably from the top International Brands (e.g. HP/Dell/or equivalent/better).	Y	Y	Y	Y	Y	-	Y	Y	Y	Y	Y	Y	-
	• The participating firm must have at least Two relevant purchase orders. (copies of purchase orders required.	Y	Y	Y	Y	Y	-	Y	Y	Y	Y	Y	Y	-

5. Technical Evaluation Summary:-

Technical Proposal was evaluated by Technical Procurement Committee. The said report was uploaded on official website of this Court on 03-10-2025.

S.No.	Name of Bidder	Bidders Participated in Lot(s)	Bidder(s) Technically Qualified in Participated Lot(s)
1	Mansha Brothers	1 & 9	Qualified
2	Texitech	1	Qualified
3	Kontinental Establishment	2, 3, 4 & 9	Qualified, except Lot No. 4
4	SeeSam Solutions	4, 5, 7 & 8	Qualified
5	Grapho Scan Supplies	2	Not Qualified
6	Sind Computer	1,11 &12	Qualified
7	Shirazi Trading Co.	2, 4, 6, 7 & 8	Qualified
8	IT Republican	1, 2, 3, 9, 10, 11 & 12	Qualified
9	Riz Technology	1 & 2	Qualified
10	319 Solutions Private Limited	5, 6, 7 & 8	Qualified
11	Syed Business Solutions	1 & 11	Qualified
12	PMCL	1 & 10	Qualified
13	MBI	11	Qualified

6. Financial Bid Evaluation :-

A total of thirteen (13) bidders participated in the tender process. Upon evaluation of the technical bids, it was observed that two (2) bidders, namely Kontinental Establishment (for only Lot No. 4) and Grapho Scan Supplies (for Lot 2, i.e. the only Lot they participated in this Tender), did not qualify as per the prescribed technical criteria. Accordingly, their financial bids were not opened for said lots.

The financial bids of the remaining eleven (11) technically qualified bidders for the respective lots, were subsequently opened before the Technical Procurement Committee. During the scrutiny of bid securities, it was found that two (2) bidders, namely "Sind Computer" and "PMCL", were found non-compliant with Section–6 "Terms & Conditions," Sub-Section–5 of the Tender Document, which states that "Lot-wise separate Bid Security must be submitted for each lot as per the format provided in Section–5." Additionally, M/s. Sind Brothers did not mention any detail of Security Bid in the Financial document, which the company submits. Both bidders had submitted a single pay order/cheque covering all lots, contrary to the specified requirement as stated above. Accordingly, their bids were declared non-compliant and disqualified from financial consideration.

After the above eliminations, the financial comparison of the remaining ten (10) technically qualified and financially compliant bidders (i.e. Mansha Brothers, Texitech, Kontinental Establishment, SeeSam Solutions, Shirazi Trading Co., IT Republican, Riz Technology, 319 Solutions Private Limited, Syed Business Solutions & MBI) was prepared and included in Section 7 of this Minutes of Meeting.

7. Financial Comparison:-

Financial proposal of technically qualified bidder was opened in public on 07-10-2025 at 10.00 AM, in presence of the bidder's representative as reflected in attendance sheet. Financial Proposal/Comparison of the bidders are as under:-

Lot No. 1: DESKTOP COMPUTER SYSTEM

					Specification &	& Cost offered	l by Bidder(s)	
Lot	DESCRIPTION	QTY	MANSHA BROTHERS	TEXITECH	SIND COMPUTER	IT REPUBLICAN	RIZ TECHNOLO GY	SYED BUSINESS SOLUTIONS	PMCL
1(a)	Office Desktop Computer – Branded, Business Series) Preferably from the top International Brands (e.g. HP/Dell/ or equivalent / better) and having TPM (Trusted Platform Module) Intel Core i5 processor 14500 vPro, (24MB cache, 14 cores, 20 threads, up to 5.0 GHz Turbo, 65W) Intel Q670 Chipset or equivalent, 16 GB: 2 x 8 GB, DDR5 Memory Tower/Mini Tower with 180W Bronze Power Supply or higher, M.2 2230 512GB PCIe NVMe GEN 4 SSD supporting high- performance storage operations, Intel® Wi-Fi 6 AX201, 2x2, 802.11ax, Bluetooth® wireless card, Manufacturer's brand wired Keyboard and Mouse - English – Black, HDMI Port/DP, ENERGY STAR Qualified, Trusted Platform Module (Discrete TPM Enabled), Intel Integrated Graphics, Warranty: Basic Onsite Hardware/Service 36 Month(s) by OEM	140 (Deliveri es @ KHI, SUK, HYD, LAR)	Brand: Dahua Model: DHI-MCQ8045 (Responsive)	Brand: Lenovo Model: ThinkCentre M70t Gen 5 (Responsive)	Brand: ASUS Model: Expert Center D901MDR (Non-responsive) Non-compliant with Section-6 "Terms & Conditions," Sub- Section-5 of the Tender Document. i.e. "Lot-wise separate Bid Security must be submitted for each lot as per the format provided in Section-5."	Brand: Dell Model: Pro QCT 1250 (Responsive)	Brand: HP Model: Pro Tower 400 G9 (Responsive)	Brand: Dell Model: Optiplex Tower 7020 Plus (Responsive)	Brand: Dell Model: QCT 1250 Pro (Non-responsive) Non-compliant with Section–6 "Terms & Conditions," Sub-Section–5 of the Tender Document. i.e. "Lot-wise separate Bid Security must be submitted for each lot as per the format provided in Section–5."
		Unit Price	249,502	182,115	-	200,000	209,243	339,450	-
		Total Price	34,930,280	25,496,100	-	28,000,000	29,294,020	47,523,000	-

				Specification & Cost offered by Bidder(s)						
Lot	DESCRIPTION		MANSHA	TEXITECH	SIND	IT DEPUBLICAN	RIZ	SYED	PMCL	
			BROTHERS		COMPUTERS	REPUBLICAN	TECHNOLOG Y	BUSINESS SOLUTIONS		
1(a)	Pre Installed Licensed Windows	140		Windows 11 Pro Factory Installed						
1(4)	110 1110001100 11100 110	Licenses				, , , , , , , , , , , , , , , , , , , ,				
		Unit Price	2500	34,200	-	30,000	43,226	2087	-	
		Total Price	350,000	4,788,000		42,00,000	6,051,640	292,180	-	

					Specifica	ation & Cost	offered by Bi	dder(s)	
Lot	DESCRIPTION	QTY	MANSHA BROTHERS	TEXITECH	SIND COMPUTERS	IT REPUBLICAN	RIZ TECHNOLOGY	SYED BUSINESS SOLUTIONS	PMCL
1(b)	 LED Display 22" OR 24" LED Display with HDMI / DPORT Supportive with quoted brand Desktop System Lot 1(a) Warranty: 3 Years 	(Deliver ies KHI, SUK, HYD, LAR)	Brand: Dahua Model: DHI-LM22- A200Y 22" LED Display (Responsive)	Brand: Lenovo Model: ThinkVision S22i-30 22" Monitor (Responsive)	Brand: ASUS Model: VA24EHFR 24" LED Display (Responsive)	Brand: DELL Model: 22" inch E222H (Responsive)	Brand: HP Model: 23.8" S3 Pro 324 PV FHD LED Monitor (Responsive)	Brand: Dell Model: E2425H 23.8 inch (Responsive)	Brand: Dell Model: 22" Monitor E2225 HM (Non-responsive) Non-compliant with Section— 6 "Terms & Conditions," Sub-Section—5 of the Tender Document. i.e. "Lot-wise separate Bid Security must be submitted for each lot as per the format provided in Section—5."
		Unit Price	28,100	33,345	-	30,000	30,297	Included in Desktop	-
	7	Total Price	3,934,000	4,668,300	-	42,00,000	4,241,580	Included in Desktop	-
Lot #	Bid	Security	400,000	5,00,000	-	4,50,000	4,00,000	485,000	-
1	Grand Total (Ent	ire Lot 1)	39,214,280	34,952,400	-	36,400,000	39,587,240	47,815,180	-
	Lowest	(Yes/No)	No	Yes	-	No	No	No	-

Lot No. 2: LASER PRINTERS (Standard)

	DESCRIPTION	OTV	Specif	ication & Co	st offered by Bio	dder(s)	
Lot	DESCRIPTION	QTY	KONTINENTAL ESTABLISHMENT	SHIRAZI TRADING	IT REPUBLICAN	RIZ TECHNOLOGY	
	Standard Office Printer (HP or Equivalent)		Brand: HP Model:	Brand: Canon Model:	Brand: HP Model:	Brand: HP Model:	
2	 Technology: LaserJet Print Speed (Black): 18 PPM or higher Legal and A4 size paper printing <u>Warranty</u>: One (01) Year Open Box Warranty from the date of opening of box with parts, labour and onsite. <u>Toner & Drum both in 01 Unit</u>. 	(Deliveries @ KHI, SUK, HYD, LAR)	LaserJet 108A	LBP-6030	Laser 108A	LaserJet 108A	
		Unit Price	36,462	36,497	35,950	34,635	
		Total Price (Rs)	4,010,820	4,014,670	3,954,500	3,809,850	
		Bid Security	55,500	56,000	1,00,000	51,000	
	I	Lowest: (Yes/No)	No	No	No	Yes	

Lot No. 3: UPS (Batteries Only)

	DESCRIPTION		Specification & Cost offered by Bidder(s)			
Lot		QTY	KONTINENTAL ESTABLISHMENT	IT REPUBLICAN		
	 UPS -(Batteries only) BATTERIES FOR UPS (12W/7AMP) (Long or equivalent/better) 	110 (Deliveries @ KHI, SUK, HYD, LAR)	Brand: Long 12w/7AH	Brand: LEOCH 12w/7AMP		
3		Unit Price	(Responsive) 4800	(Responsive) 4900		
		Total Price (Rs)	528,000	539,000		
		Bid Security	5,300	10,000		
		Lowest: (Yes/No)	Yes	No		

Lot No. 4: SCANNERS (Normal)

	DEG CDADEW ON	OTV	Specification & Cost offered by Bidder(s)			
Lot	DESCRIPTION	QTY	SEE SAM SOLUTIONS	SHIRAZI TRADING		
	SCANNERS (Normal) Scanner ADF 20-25 PPM with legal size Flatbed in One Unit.	08	Brand: AVISION	Brand: Canon		
	LED Light Source, Simplex/Duplex, Up to 600 Scanning Resolution or More, Minimum feeder holding capacity of 50 sheets, High Speed USB Interface, Flatbed document size width: 216mm, length: 356 mm. Scanner must be a single, integrated unit	(Deliveries @ KHI, SUK,	Model No. AD345GF	Model: DR-F120		
4	(combo or separate parts not acceptable). Warranty: 1 year	HYD)	(Responsive)	(Responsive)		
		1,94,000	1,23,500			
	To	otal Price (Rs)	1,552,000	988,000		
		Bid Security	16,000	10,000		
	Lowe	st: (Yes/No)	No	Yes		

Lot No. 5: SCANNERS (Medium)

Lat	DESCRIPTION	OTV	Specification & Cos	t offered by Bidder(s)
Lot	DESCRIPTION	QTY	SEE SAM SOLUTION	319 SOLUTIONS (PVT.) LIMITED
	SCANNERS (Medium) Scanner ADF with Legal size Flatbed in One Unit.		Brand : AVISION	Brand : AVISION
	Minimum Scanning Speed (Color): 60ppm / 120 ipm LED Light Source, Simplex/Duplex,		Model : AD345GF	Model : AD345 GF
	Optical resolution: Flatbed:1200 x 1200 dpi,	05	(Responsive)	(Responsive)
5	ADF:600 x 600 dpi Minimum feeder holding capacity of 50 sheets, High Speed USB Interface, Flatbed document size width: 216mm, length: 356 mm. Scanner must be a single, integrated unit (combo or separate parts not acceptable). Warranty: 1 year	(Deliveries @ KHI)		
		Unit Price	194,000	216,000
		Total Price (Rs)	9,70,000	1,080,000
		Bid Security	10,000	10,800
		Lowest: (Yes/No)	Yes	No

Lot No. 6: BOOK SCANNER

	0. 0; BOOK SCANNER		Specification & Co	ost offered by Bidder(s)
Lot	DESCRIPTION	QTY	SHIRAZI TRADING	319 SOLUTIONS (PVT.) LIMITED
6	BOOK SCANNER 20 Megapixels A3 / Higher Max. Resolution: (20MP) Single camera sensor, Output DPI A3 (Approx. 300dpi) Max. Shooting Area A3 (426 x 320 mm) Color Bit Depth 24-bit , Lens Focus Fixed Scanning Speed: 1 sec. per A3 page , Scanning methods: Hand Button, Foot Pedal, Software Button, Auto-Scan, Output Format Picture: JPG, TIFF, BMP, PNG Document: PDF(Image), PDF (Searchable), PDF (Text), Excel, WORD, TEXT E-book: EPUB Text To Speech: MP3, WAV Video: AVI, MPEG, FLV, WMV. Supports: Windows 10, 11, Accessories: US Cable x 1 Scanning Pad x 1 Quick Start Guide x 1 Hand Button x 1 Foot Pedal x 1 Software CD x 1/, Warranty: 1 year	02 (Deliveries @ KHI)	Brand: IRIS (CANON Company) Model: Desk 7 Business (Responsive)	Brand: Visaan Model: K21 A3 Over Head Book Scanner (Responsive)
		Unit Price	199,000	1,30,000
	То	tal Price (Rs)	398,000	260,000
		Bid Security	5000	2600
	Lowe	st: (Yes/No)	No	Yes

Lot No. 7: HEAVY DUTY SCANNER - TYPE-I

			Specification	on & Cost offered by	Bidder(s)
Lot	DESCRIPTION	QTY	SEE SAM SOLUTIONS	SHIRAZI TRADING	319 SOLUTIONS (PVT.) LIMITED
7	HEAVY DUTY SCANNER - TYPE-I ADF Scanner with Flatbed Legal Size or Higher. Speed (Color): 80-90 ppm/170 ipm (Color) at 300 dpi. Both ADF & Flatbed may be provided in Single Integrated Unit or as separate devices but its software must support combined scanning (ADF + Flatbed) i.e. scan pages in a single file. Feeding Capacity: 150-250 sheets or higher. Daily Duty Cycle: 18,000 to 30,000 pages per day or higher. Connectivity: USB 3.1, 3.2 or higher OR Ethernet. U-Turn or Straight Paper Path for bulk scanning and fragile document scanning. Vender should provide Roller set for each unit. OEM Certification: Bidder should provide MAL Letter from manufacturer. Warranty: 1 year, Manufacturer Authorization from OEM. Urgent Delivery preferably Ex-Stock	07 (Deliveries @ KHI)	Brand: AVISION Model: ADF: AD6090N Flatbed: FB5100 (Responsive)	Brand: CANON Model: Image FORMULA A3 Size DR-G2090 FB Unit 102 (Responsive)	Brand: KODAK Alaris Model: S2085f with A3 Size Flatbed (Responsive)
		Unit Price	793,000	8,79,000	8,80,000
	То	tal Price (Rs)	5,551,000	6,153,000	6,160,000
		Bid Security	56,000	70,000	61,600
	Lowe	st: (Yes/No)	Yes	No	No

Lot No. 8: HEAVY DUTY SCANNER - TYPE-II

	0. 6. HEAVI DUII SCANNER - III E-II		Specific	ation & Cost offered by	Bidder(s)
Lot	DESCRIPTION	QTY	SEE SAM SOLUTIONS	SHIRAZI TRADING	319 SOLUTIONS (PVT.) LIMITED
8	HEAVY DUTY SCANNER - TYPE-II Scanner ADF (Simplex/Duplex) with Flat Bed Legal Size or Higher. Speed: 110 -120 PPM (Black & White, Gray, Color). Both ADF & Flatbed may be provided in Single Integrated Unit or as separate devices but its software must supports combined scanning (ADF + Flatbed) i.e. scan pages in a single file. Scanning Resolution: 150, 200, 240, 300, 400, 600 dpi or more. Capacity: 300 sheets, Color: 24 bit. Scanning Mode: Simplex, Duplex, Color, Grayscale, Black and White, Error Diffusion, Advanced Text Enhancement. Features: - Prevent Bleed Through/Remove Background, Punch Hole Removal, Rapid Recovery System, Skip Blank Page, Text Orientation Recognition, Ultrasonic Double-Feed Detection Minimum Flatbed document size width: 216mm, length: 356 mm. Warranty: 1 year, Manufacturer Authorization from OEM. Urgent Delivery preferably Ex-Stock	07 (Deliveries @ KHI)	Brand: AVISION Model: AD8120U FB5100 A3 (Responsive)	Brand: CANON Model: Image FORMULA DR-G2110 FB Unit 102 (Responsive)	Brand: Kodak Alaris Model: S3120 max with A3 Size Flatbed (Responsive)
		Unit Price	1,095,000	1,197,000	1,148,500
	То	tal Price (Rs)	7,665,000	8,379,000	8,039,500
	I	Bid Security	91,000	84,000	1,15,000
	Lowes	st: (Yes/No)	Yes	No	No

.

Lot No. 9: HEAVY DUTY UPS

			Specificat	ion & Cost offered by I	Bidder(s)
Lot	DESCRIPTION	QTY	MANSHA BROTHERS	KONTINENTAL ESTABLISHMENT	IT REPUBLICAN
	 HEAVY DUTY UPS 16 -20 KVA (preferably branded) Circuit Warranty: Minimum 1 Year 	02 (Deliveries @	Brand: APC Model: APC Easy UPS 3S 20 KVA –	Brand: KSTAR Model: YDC 3320S 20KVA	Brand: APC Model: Easy UPS 3S 20KVA
	UPS Warranty Battery: Minimum 1 Year along with all necessary cables.	KHI)	E3SUPS20KHB1 (Responsive)	(Responsive)	(Responsive)
9		Unit Price	2,862,417	1,025,000	2,800,000
	То	otal Price (Rs)	5,724,834	2,050,000	5600,000
		Bid Security	60,000	20,500	70,000
	Lowe	st: (Yes/No)	No	Yes	No

Lot No. 10: COMPUTER SYSTEM (ALL IN ONE)

Lot	DESCRIPTION	QTY	Specifi	cation & Cost offered by Bidder(s)
200	2200111	V	IT REPUBLICAN	PMCL
10	All in One (AIO) Computer System- (Branded) Preferably from the top International Brands (e.g. HP/Dell/ or equivalent/better) and having TPM (Trusted Platform Module) All- in-One (AIO) Computer System, Intel® Core™ Ultra 5 235 vPro® (24MB cache, 14 cores, 20 threads, up to 5.0 GHz Turbo, 65W), Intel Q870 Chipset, 16GB DDR5 5600 MT/s, 2 X 8 GB,Non- ECC,SoDIMM, 65W CPU, touch, FHD HDR camera, UMA, 160W Bronze, Intel Integrated Graphics, M.2 2230 512GB PCIe NVMe Solid State Drive supporting high-performance storage operations, Intel® Wi-Fi 6, 2x2, 802.11ax, Bluetooth wireless card, 23.8"/higher, Touch LCD, Manufacturer's Brand Wireless Keyboard and Mouse - English − Black, ENERGY STAR Qualified, Intel Core i5 Processor Label, Height Adjustable Stand for All-in- One System, Trusted Platform Module (Discrete TPM Enabled), Warranty: Basic Onsite hardware/Service- 36 Month(s) by OEM	2 (Deliveri es @ KHI)	Brand: Dell Model: Dell pro 24 All in One QC 24250 (Responsive)	Brand: Dell Model: Pro All in One QC 24250 (Non-responsive) Non-compliant with Section–6 "Terms & Conditions," Sub-Section–5 of the Tender Document. i.e. "Lot-wise separate Bid Security must be submitted for each lot as per the format provided in Section–5."
		Unit Price	400,000	-
		Total Price	8,00,000	-

Lot	DESCRIPTION	QTY	Specif	fication & Cost offered by Bidder(s)
Lot	DESCRIPTION	QII	IT REPUBLICAN	PMCL
10	Pre Installed Licensed Windows Microsoft Windows 11 Pro Factory Installed by OEM	02	(Responsive)	(Non-Responsive) Non-compliant with Section–6 "Terms & Conditions," Sub-Section–5 of the Tender Document. i.e. "Lot-wise separate Bid Security must be submitted for each lot as per the format provided in Section–5."
		Unit Price	30,000	-
		Total Price	60,000	-
	Grand Total (Ent	iro Lot 10)	8 60 000	

T -4 44	Grand Total (Entire Lot 10)	8,60,000	-
Lot #	Bid Security	10,000	-
10	Lowest (Yes/No)	Yes	-

Lot No. 11: MISC. I.T EQUIPMENT

l.	LIST OF						Specifi	cation & C	ost offered l	by Bidder	r(s)			
S. No.	TECHNICAL SPECIFICATION OF I.T. ARTICLES	Qty	SIND C	COMPUTE	ERS	IT	REPUBLI	CAN	SYED BUSINESS SOLUTIONS			MBI		
	I.I. ARTICLES		Specification	Rate	Total	Specification	Rate	Total	Specification	Rate	Total	Specification	Rate	Total
	NETWORK SWITCH (8		Non-compli "Terms & G Section—	Conditions 5 of the To tt. i.e. "Lot d Security r each lot	ection–6 s," Sub- ender t-wise must be as per the		Responsive)		(Responsive)			(Responsive)		
NETWO	RK SWITCHES								l					
1	NETWORK SWITCH (8 PORT) (TP-Link) (Non- POE) all Giga-Ports	25	-	-	-	TP Link	8,809	220225	TP LINK ES208G	11,340	283,500	TP Link	6600	165,000
2	NETWORK SWITCH (16 PORT) (TP-Link) (Non-POE) all Giga-Ports	05	-	1	1	TP Link	24,225	121125	TP LINK/ES216G	25,200	126,000	TP Link	18500	92,500
KEYB	OARD & MOUSE (WIRE WIRELESS)	D OR												
3	KEYBOARD WIRED (A4-Tech, Logi-Tech, HP, DELL)	200	-	-	1	(A4 tech)	2,716	543200	(A4 tech)	2,142	428,400	HP/Dell	1950	390,000
4	MOUSE WIRED (A4- Tech, Logi-Tech, HP, DELL)	200	-	-	-	(A4 tech)	1,395	279000	(A4 tech)	1,197	239,400	HP/Dell	1000	200,000

NETWO	ORK ITEMS													
5	LAN CARD PCI EXPRESS (TP-Link)	10	-	-	-	TP Link	4,111	41110	TPLink/TG 3468	3,276	32,760	TP Link	3850	38,500
6	NETWORK CABLE COIL (Cat 6) (3M) (100 % Pure Copper)	05	-	-	-	3M	60,197	300985	D-Link	37,372	186,858	3M	65000	325,000
7	NETWORK CRIMPING TOOL (Branded)	03	-	-	-	Branded	2,202	6606	D-Link	3,780	11,340	Branded	1950	5,850
8	NETWORK FACEPLATES (For Tool Less I/O) (3M-AMP)	50	-	-	-	3M	514	25700	D-Link	227	11,340	3M	485	24,250
9	NETWORK I/O (Tool Less) (3M-AMP)	50	-	-	-	3M	808	40400	D-Link	756	37,800	3M	850	42,500
10	PCI EXPREE WIRELESS CARD (TP- LINK)	10	-	-	-	TP Link	3,524	35240	TP Link (Yes)	6,930	69,300	TP Link	3500	35,000
11	RJ-45 Connector (Box) (AMP, 3-COM)	10	-	-		AMP	5,139	51390	Yes	4,788	47,880	AMP	4500	45,000
12	WIRELESS ROUTER (TP LINK Archer AXE75)	05	-	-	-	TP Link	63,867	319335	TPLink/Archer AXE75	45,360	226,800	TP Link Archer	49000	245,000
13	Ubiquiti Unifi AP U-6 LR with POE Adaptors	40	-	-	-	Ubiquiti	84,049	3361960	TP Link / EAP 683 UR + OMC	47,250	1,890,000	Ubiquiti	79000	3,160,000
14	Ubiquiti airMax PowerBeam M5 400	06	-	-	-	Ubiquiti	36,573	219438	TP Link / CPE710	22,050	132,300	Ubiquiti	45000	270,000
15	TP-Link Omada AP-9665 (AX3600 Celling Mount)	10	-	-	-	TP Link	64,520	645200	TP Link EAP 660 HD	64,890	648,900	TP Link	79000	790,000
16	MikroTik Router RB- 4011iGS+RM	06	-	-	-	MikroTik	81,426	488556	MikroTik	75,600	453,600	Mikrotik	80000	480,000
17	MikroTik Router HEX	02	-	-	-	MikroTik	21,391	42782	MikroTik	20,790	41,580	Mikrotik	29500	59,000
18	Cisco ISR-4461 Services Router	02	-	-	-	CISCO	704,103.5	1408207	CISCO	1,575,000	3,150,000	CISCO	285000	570,000

	HARDWARE REPAIRING TOOLS													
	MULTI-METER (Claim Meter) (UNI-T)	01	-	-	-	UNI-T	12,480	12480	UNI-T	5,040	5,040	Branded	3800	3,800
20	Fiber Optic Power Meter with VSL (Good Quality)	1	-	-	-	Local	13,948	13948	UNI-T	16,380	16,380	Branded	21000	21,000
21	PRINTER USB DATA CABLE (Branded)	25	-	-	-	Branded	514	12850	U Green	1,449	36,225	Branded	400	10,000
22	MULTI-PLEXER (Multi Board Input/Output) (Branded)	02	-	-	-	Branded	2,202	4404	Pure Link German Brand	53,299	106,599	Local	1300	2,600
23	TYPE C to Multi Port (Branded)	10	-	-	-	Branded	3,377	33770	Branded (China)	3,024	30,240	U Green	8000	80,000
24	SET OF 3 PLYERS (Branded)	02	-	-	-	Branded	2,202	4404	Branded (China)	1,827	3,654	Local	1960	3,920
25	SOLDERING IRON (Woods) (45 watts)	01	-	-	-	Local	2,936	2936	Branded (China)	1,008	1,008	Local	1500	1,500
26	SOLDERING WIRE (Branded) (Woods) 60/30	02	-	-	-	Local	1,615	3230	Branded (China)	756	1,512	Local	1000	2,000
27	USB (64 GB) (3.0) (Kingston)	100	-	-	-	Kingston	1,703	170300	Kingston	1,890	189,000	Kingston	1685	168,500
28	VGA Cable ((Branded)	20	-	-	-	Branded	808	16160	Local(China)	567	11,340	Branded	495	9,900
29	HDMI To VGA Conveter (Branded)	50	-	-	-	Branded	2,496	124800	Local(China)	567	28,350	Branded	1950	97,500
30	External/Portable SSD Drive (2TB) (Samsung, San Disk, Kingston)	10	-	-	-	SanDisk	73,410	734100	Samsung	57,330	573,300	SanDisk	52500	525,000
	SSD Drive (512 GB) (Samsung, San Disk, Kingston)	50	-	-	-	SanDisk	20,555	1027750	Samsung	23,310	1,165,500	Black copper/Blue Tech	11640	582,000

32	SSD Drive (1 TB) (Samsung, San Disk, Kingston)	50	-	-	-	SanDisk	35,237	1761850	Verbatim	17,892	894,600	Black Copper or Blue Tech or Any Good Brand	21000	1,050,000
33	USB EXTERNSION CABLE (Branded)	10	-	-	-	Branded	514	5140	YES	693	6,930	Branded	1650	16,500
34	AIR BLOWER (Black Decker)	01	-	-	-	Black & Decker	48,683	48683	Black Decker	41,580	41,580	Black & Decker	35000	35,000
35	D-PORT TO VGA CONVERTER (Branded)	50	-	-	-	Branded	3,450	172500	YES	756	37,800	Branded	1800	90,000
36	DPORT CABLE	15	-	-	-	Local	1,498	22470	YES	1,260	18,900	Branded	1250	18,750
37	D-port to HDMI cable (Branded)	20	-	-	-	Branded	1,321	26420	YES	2,268	45,360	Branded	1500	30,000
38	HDMI CABLE (Branded)	50	-	-	-	Branded	2,936	146800	YES	4,095	204,750	Branded	1800	90,000
	DEGRREASER CLEANER (Perfect)	05	-	-	-	Perfect	2,202	11010	Perfect	1,008	5,040	Perfect	1500	7,500
40	USB to SATA CONVERTER (Branded)	05	-	-	-	Branded	1,468	7340	YES	1,638	8,190	Branded	1100	5,500
OTHER	MISCELLENIOUS ITEM	1S												
41	GLUE STICK FOR ELECTRIC GLUE GUN (Packet) (Any Brand)	02	-	-	-	Local	1,028	2056	Yes	756	1,512	Branded	800	1,600
	MAGIC ELFY (Any Brand)	05	-	-	-	Local	734	3670	Magic	252	1,260	Branded	750	3,750
43	TIE CLIP (Large Size) (Any Brand) Packets	02	-	-	-	Local	1,468	2936	Local	126	252	Branded	650	1,300
44	TIE CLIP (Small Size) (Any Brand) Packets	02	-	-	-	Local	1,321	2642	Local	126	252	Branded	565	1,130
45	SPRAY (WD-40)	05	-	-	-	WD	1,542	7710	WD	3,150	15,750	Branded	1450	7,250
46	MOUSE PAD	20	-	-	-	Local	485	9700	Yes	441	8,820	Branded	320	6,400

47	Hammer Drill/Hilti 26mm Best Quality Pure Copper Winding	01	-	-	-	Branded	26,428	26428	Yes	16,380	16,380	Branded	22000	22,000
48	SDS Plus Drill Bits set	01	-	-	-	Local	5,139	5139	Yes 5 pcs	4,410	4,410	Branded	6500	6,500
49	3-12mm Cross Hex Tile Drill Bits Set for Glass Ceramic Concrete Hole Opener Brick Hard Alloy Triangle Bit Tool Kit	01	-	-	-	Local	2,202	2202	Yes	1,134	1,134	Branded	1700	1,700
50	Hole Saw Cutting Kit 11 Pcs Wood, Carbon Steel Cutter Circular Round Drill Bit	01	-	-	-	Local	1,468	1468	Yes	1,512	1,512	Branded	1600	1,600
51	Harden 39pcs Repairing Tools Set	01	-	-	-	Harden	16,150	16150	Yes	15,750	15,750	Ingco	14500	14,500
	Harden 77pcs Repairing Tools Set	01	-	-	-	Harden	52,856	52856	Yes	45,360	45,360	Ingco	54000	54,000
53	24 Feet Aluminum Telescopic Ladder (Folding/Extendable)	01	-	-	-	Branded	45,000	45,000	Yes	88,200	88,200	Branded	68000	68,000
54	Tripod Stand for 45-65" LCD	01	-	-	-	Branded	15000	15,000	Yes	100,800	100,800	Branded	18500	18,500
	Grand Total (Lot No. 11):					12,706,761 Incl. Tax	-	-	11750448 + GST 2.115,081 13,865,528	-	-	9,996,800 Incl.Tax		
	Bid Security:					2,00,000	-	-	145,000	-	-	1,00,000		
	Lowest (Yes/No):					No	-	-	No	-	-	Yes		

Lot No. 12: I.T EQUIPMENT (Toners, Consumables)

G N			Specification & Cost offered by Bidder(s)					
S. No.	LIST OF TECHNICAL SPECIFICATION OF I.T. ARTICLES	Qty.	SIND COMPUTER		IT REPUBLICAN			
TONERS FOR LASERJET PRINTER TONERS			(Non-responsive) Non-compliant with Section–6 "Terms & Conditions," Sub-Section–5 of the Tender Document. i.e. "Lot-wise separate Bid Security must be submitted for each lot as per the format provided in Section–5."		(Responsive)			
			Rate	Total	Rate	Total		
1	TONER EMPTY (85A) (HP)	50	-	-	2202	110,100		
2	TONER EMPTY (17A) (HP)	20	-	-	2936	58,720		
3	TONER EMPTY (PANTUM PRINTER)	30	-	-	4404	132,120		
4	TONER EMPTY (150A) (HP)	50	-	-	4257	212,850		
5	TONER EMPTY (110A) (HP)		-	-	3376	337,600		
ACCESSORIES FOR LASERJET PRINTER								
6	COMPLETE FUSER (HP-1102)	20	-	-	9453	189,060		
7	DATA CARD (HP-1102)		-	-	13,213	330,325		
8	PAPER PICKUP ROLLER (HP-1102)		-	-	1027	10,270		
9	PRNTER SUPPLY (HP-1102)	05	-	-	8075	40,375		
10	TEFLON (HP-1102)	25	-	-	734	18,350		
11	FUSER ROLLER (HP-1102)	10	-	-	1615	16,150		
	Grand Total (Lot No. 12)							
	Bid Security							
	Lowest (Yes/No)							